

Contoh pada RK

$$\begin{array}{cc|c} 0 & 0 & 0 \\ 1/2 & 0 & 1/2 \\ \hline 0 & 1 & \end{array}$$

Barisan Euler.

$$y_{n,1} = y_n$$

$$y_{n,2} = y_n + h \cdot \frac{1}{2} f(t_n + 0h, y_{n,1})$$

$$= y_n + \frac{h}{2} f(t_n, y_n)$$

$$y_{n+1} = y_n + h f(t_{n,2}, y_{n,2})$$

$$= y_n + h f\left(t_n + \frac{h}{2}, y_n + \frac{h}{2} f(t_n, y_n)\right)$$

$$\begin{cases} y'(t) = (1-2t)y(t) & t > 0 \\ y(0) = 1 \end{cases}$$

Para $h=0.1$

$$y_{0,1} = y_0, \quad y_{0,2} = y_0 + \frac{h}{2} f(t_0, y_0)$$

$$y_1 = y_0 + h f\left(t_0 + \frac{h}{2}, y_0 + \frac{h}{2} f(t_0, y_0)\right)$$

$t_0=0, y_0=1$

$$y_{0,1} = 1, \quad y_{0,2} = 1 + \frac{0.1}{2} (1-2 \cdot 0) \cdot 1 = 1.05$$

$$y_1 = y_0 + h f\left(\frac{h}{2}, y_0 + \frac{h}{2} f(t_0, y_0)\right) = 1 + 0.1 f(0.05, 1.05)$$

$$= 1 + 0.1 (1 - 2 \cdot 0.05) \cdot 1.05 = \dots = 1.0945$$

Κατάσταση πωλητής μέχρι το $t=1.2$

Σφάλμα RK : 0.00721

Για άλλες μεθόδους

Απλά Euler : 0.07344 (p=1)

Αγν. Euler : 0.06510 (p=1)

Ραუნτίνου : 0.00789 (p=2)

Runge Kutta

$$\begin{array}{cc|c} 1/4 & 1/4 - \mu & 1/2 - \mu \\ 1/4 + \mu & 1/4 & 1/2 + \mu \\ \hline 1/2 & 1/2 & \end{array}$$

$$\mu = \frac{\sqrt{3}}{6}$$

$$\begin{cases} y'(t) = \lambda y(t), & \lambda \in \mathbb{R} \\ y(0) = 1 \end{cases}$$

$$t_{n,1} = t_n + \left(\frac{1}{2} - \mu\right)h, \quad t_{n,2} = t_n + \left(\frac{1}{2} + \mu\right)h$$

$$\begin{aligned} y_{n,1} &= y_n + h \left(\frac{1}{4} f(t_{n,1}, y_{n,1}) + \left(\frac{1}{4} + \mu\right) f(t_{n,2}, y_{n,2}) \right) \\ y_{n,2} &= y_n + h \left(\left(\frac{1}{4} + \mu\right) f(t_{n,1}, y_{n,1}) + \frac{1}{4} f(t_{n,2}, y_{n,2}) \right) \end{aligned}$$

Il coefficiente diventa ora $f(t, y) = y$.

$$y_{n,1} = y_n + \frac{1}{4} h y_{n,1} + (\frac{1}{4} + \mu) h y_{n,2}$$

$$y_{n,2} = y_n + (\frac{1}{4} + \mu) h y_{n,1} + (\frac{1}{4}) h y_{n,2}$$

~~$$\begin{pmatrix} y_{n,1} \\ y_{n,2} \end{pmatrix} = \begin{bmatrix} \frac{1}{4} h y & (\frac{1}{4} + \mu) h y \\ (\frac{1}{4} + \mu) h y & \frac{1}{4} h y \end{bmatrix} \begin{pmatrix} y_{n,1} \\ y_{n,2} \end{pmatrix} + \begin{pmatrix} y_n \\ y_n \end{pmatrix}$$~~

$$\begin{bmatrix} 1 - \frac{1}{4} h y & -(\frac{1}{4} + \mu) h y \\ -(\frac{1}{4} + \mu) h y & 1 - \frac{1}{4} h y \end{bmatrix} \begin{pmatrix} y_{n,1} \\ y_{n,2} \end{pmatrix} = \begin{pmatrix} y_n \\ y_n \end{pmatrix}$$

13

$$B = \underbrace{L}_{\text{κάτω τριγωνικός}} \cdot \underbrace{U}_{\text{άνω τριγωνικός}}$$

$$L = \begin{bmatrix} 1 & 0 \\ -\frac{(\frac{1}{4} + \nu)h_1}{1 - \frac{1}{4}h_1} & 1 \end{bmatrix} \quad U = \begin{bmatrix} 1 - \frac{1}{4}h_1 & -(\frac{1}{4} + \nu)h_1 \\ 0 & \frac{1 - \frac{h_1}{2} + \nu^2 (h_1)^2}{1 - h_1/4} \end{bmatrix}$$

$$LU \begin{pmatrix} y_{n,1} \\ y_{n,2} \end{pmatrix} = \begin{pmatrix} y_n \\ y_n \end{pmatrix}$$

$$1) \quad Lw = \begin{pmatrix} y_n \\ y_n \end{pmatrix}$$

$$2) \quad U \begin{pmatrix} y_{n,1} \\ y_{n,2} \end{pmatrix} = \begin{pmatrix} w_1 \\ w_2 \end{pmatrix}, \quad w = \begin{pmatrix} w_1 \\ w_2 \end{pmatrix}$$

$$1) \quad Lw = \begin{pmatrix} y_n \\ y_n \end{pmatrix} \Rightarrow \quad w_1 = y_n, \quad w_2 = y_n \frac{1 + \mu h_1}{1 - h_1/4}$$

$$2) \quad U \begin{pmatrix} y_{n,1} \\ y_{n,2} \end{pmatrix} = \begin{pmatrix} w_1 \\ w_2 \end{pmatrix}, \quad y_{n,2} = y_n \frac{1 + \mu h_1}{1 - \frac{h_1}{2} + \mu^2 (h_1)^2}$$

$$y_{n,1} = y_n \frac{1 - \mu h_1}{1 - \frac{h_1}{2} + \mu^2 (h_1)^2}$$

$$\begin{aligned} y_{n+1} &= y_n + \frac{1}{2} h_1 (f(t_{n,1}, y_{n,1}) + f(t_{n,2}, y_{n,2})) \\ &= y_n + \frac{h_1^2}{2} (y_{n,1} + y_{n,2}) = \dots = y_n \cdot \frac{1 + \frac{h_1}{2} + \frac{(h_1)^2}{12}}{1 - \frac{h_1}{2} + \frac{(h_1)^2}{12}} \quad \left(\mu = \frac{\sqrt{3}}{6} \right) \end{aligned}$$